=
=
al
=
4=
=)

L|CH!

=

L,

2

C
Mg

H=S

Hst

HORIZONO|M &

=M Heq717|

| M=

520

ﬂEHI:HESidneY

=18

211964 d =0 AlIXHE Al

0=

1

3

o NMd

21 Pi Mu Epsilon

Al

0|9l =5t &

L
—

Ot = =H|

b. ook = Xp2l2 7} 32%CHH

C

jol

P22 U X3l =0|2 2, & XSl4= 32800= A 7Lt Z0Lof



ZEXE +E NS E

27}t 7Hs3iCt

1. AA? = ABCD : 99% = 9801

2. AA? = BBCC : 882 = 7744

3.AA%? = BCDA : 552 = 3025, 662 = 4356
4. AA? = BCDC : 77 = 5929

5. AA?2 = BCDE : 332 = 1089, 44> = 1936
6. AB? = ACDA : 97 = 9409

7.AB> = ACDB::
8. AB> = ACDE :
9. AB?2 = BCAC :

952 = 9025, 962 = 9216
982 = 9604
632 = 3969

10. AB? = BCDA : 64 = 4096

11. AB?> = BCDB : 41% = 1681, 752 = 5625
12. AB?> = BCDE : 522 = 2704, 87% = 7569
13. AB? = CAAB : 76 = 5776

14. AB*> = CAAD : 83% = 6889

15. AB*> = CABB : 50% = 2500, 602 = 3600
16. AB?> = CADC : 68% = 4624

17. AB> = CADE : 37% = 1369, 49% = 2401
18. AB? = CBAD : 74 = 5476

19. AB?> = CBDE : 73% = 5329, 89% = 7921
20. AB> = CCDE:

34% = 1156, 47

21. AB? = CDAE :

= 2209, 582 = 3364, 672 = 4489,94> = 8836

432 = 1849,692 = 4761

W74 XSl 7t E[= FRE SHMOZ LIEHLHO 23 CHZt 20| 3271X| &

22. AB? = CDBB : 40 = 1600, 702 = 4900, 80% = 6400, 90% = 8100
23. AB> = CDBE : 32? = 1024, 78 = 6084, 822 = 6724

24. AB?> = CDCB : 45* = 2025, 562 = 3136, 812 = 6561,91% = 8281
25. AB? = CDDB : 35% = 1225,46% = 2116, 652 = 4225, 852 = 7225
26. AB? = CDDD : 38 = 1444

27. AB> = CDEA : 42° = 1764, 48% = 2304, 93% = 8649

28. AB> = CDEB: :

362 = 1296, 512 = 2601,612 = 3721, 712 = 5041, 862 = 7396

29. AB2 = CDEC : 392 = 1521
30. AB?> = CDED : 922 = 8464
31. AB?> = CDEE : 622 = 3844

32. AB> = CDEF :
532 = 2809, 542
792 = 6241, 84>

— 2916, 572 = 3249, 592 = 3481, 72% = 5184,
— 7056



o of

o

[==]

Mol M A

o |
[Lm

OfCt.

<F
Ll
1
ok
0!

T LHHE] A

<F
=30
ol
ok

t

I.

jo!

oo, 0| A B4

HH

L

AB? = CDDBCtH, o]
CDEA

|.

f

T 22Xt 249

g
270l AB?

032 — 86490|ct,

tCt.

)

—

(=)

Ml ZEXIZL 2t

CDDB?IX| & £7} gict.

o

[m=]

Ot C}

=

.
CDDB : 352 = 1225,46% = 2116, 652 = 4225,85% = 7225

CDCB : 45% = 2025, 56% = 3136, 812 = 6561,912 = 8281
CDEA : 42° = 1764, 48% = 2304, 932 = 8649
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XYA2 = ABCX : 42 A2 = 1764, 48 A2 = 2304, 93 A2 = 8649 (2471 HEHC E2)

XYA2 = ABAY : 45 A2 = 2025, 56 A2 = 3136, 81 A2 = 6561, 91 A2 = 8281 (BTt HEQ 22)
XYA2 = ABBY : 352 = 1225, 46 A2 = 2116, 65 A2 = 4225, 85 A2 = 7225 (M7t HHC! E2R)

B0l 37HAX| oS ERet AKX Z2Z =0, OHX|2 B 2= HIEFA X & i A{5HH.

XYA2 = ABCX 7t &H[0|11 93 A2 = 8649 7t &2l A= HUL|CE

https://horizon kias.re.kr/archives/allarticles/puzzle/5 2 9| - &-}| 4-H & 11-F =-2 M A/?style=style6&type=print
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